

Divide by 10^{-2} (B)

Find each quotient.

$$1,32 : 10^{-2} =$$

$$1,5 : 10^{-2} =$$

$$4,6319 : 10^{-2} =$$

$$0,82 : 10^{-2} =$$

$$2,4288 : 10^{-2} =$$

$$2,2 : 10^{-2} =$$

$$8,6 : 10^{-2} =$$

$$4,846 : 10^{-2} =$$

$$8,748 : 10^{-2} =$$

$$4,77 : 10^{-2} =$$

$$7,6 : 10^{-2} =$$

$$0,3 : 10^{-2} =$$

$$5,3171 : 10^{-2} =$$

$$8,47 : 10^{-2} =$$

$$1 : 10^{-2} =$$

$$6,915 : 10^{-2} =$$

$$9,94 : 10^{-2} =$$

$$9,4795 : 10^{-2} =$$

$$5,732 : 10^{-2} =$$

$$6,051 : 10^{-2} =$$

Divide by 10^{-2} (B) Answers

Find each quotient.

$$1,32 : 10^{-2} = 132$$

$$1,5 : 10^{-2} = 150$$

$$4,6319 : 10^{-2} = 463,19$$

$$0,82 : 10^{-2} = 82$$

$$2,4288 : 10^{-2} = 242,88$$

$$2,2 : 10^{-2} = 220$$

$$8,6 : 10^{-2} = 860$$

$$4,846 : 10^{-2} = 484,6$$

$$8,748 : 10^{-2} = 874,8$$

$$4,77 : 10^{-2} = 477$$

$$7,6 : 10^{-2} = 760$$

$$0,3 : 10^{-2} = 30$$

$$5,3171 : 10^{-2} = 531,71$$

$$8,47 : 10^{-2} = 847$$

$$1 : 10^{-2} = 100$$

$$6,915 : 10^{-2} = 691,5$$

$$9,94 : 10^{-2} = 994$$

$$9,4795 : 10^{-2} = 947,95$$

$$5,732 : 10^{-2} = 573,2$$

$$6,051 : 10^{-2} = 605,1$$